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Solve for x by multiplying each term by the LCD

1 Short Form
x—1= E LCD =2 1
1 Check Answer x—1= 2
2X(x—1) :éﬂ Multiply both sides by 2 1 2-1) =1
2y — 7 = Distribute x—1=3 2x -2 =
/4(5 +2 Add 2 to both sides E_l_l 2x =
x 3 2 2
9 Divide both sides by 2 E_E _ l
"33
Algebra Add Fractions
. 1 c 4 1-1_ 1x2 2
x—1=3 Z Tl [Beand == 72
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f 2 LCD=2
Solve for x by multiplying each term by the LCD
1 1 Short Form
) LCD =4 1 1
f? e 1 X—7255
_Z)\=Z 4 2
4x|x 4) ) X Multiply both sides by 4 1 1
4 4 Distribute (x 4 E) x4
dx —— == _
4 _ 2 Check Answer dx—1=2
dx —1=2 Add 1 to both sides 4x =3
+1 +1 11
= 3 11
4x = 3 Divide both sides by 4 —— ===
4 4 4 4 2
2 1
4 2 Instead of actually multiplying
1_1/ by the LCD we are going to
2 2 multiply and simplify at the
same time.
Solve for x by multiplying each term by the LCD
; % = % LCD = 12 Check Answer Fractions + + Short Form
x 1 1 x 1 1 1 x 1 1
—+-==]x12 i —+-== = 4 ==
(2 1 3) Multiply t173 || & L i1 (2 2 3) x12
12x 12 12 both sides by 12 (1) L1 2 112 43 6x +3 =4
— tT=3 Distribute 6/, 2_2 1+2 — 12 6x = 1
6x+3 =4 2 4 3 6 12 12
-3 —3 Simplify l+1=1 lxl i e
6x = 12 4 3 6 2 12
1 1 1 1
Algebra —==JI| = Z
3 3 12 3
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